

۱۷، ۱۸

①

$$\overline{AC} = \lim_{x \rightarrow 0} \frac{\pi}{1-x} = \frac{\pi}{1-1} \rightarrow \frac{\pi}{0} \quad 1 = f(0) = \text{yes}$$

دریغی خبریال

$$\rightarrow f(0) = \tan\left(\frac{\pi}{2}\right) = 1 \rightarrow \boxed{\frac{\pi}{2} \times 1 \times \frac{1}{2} = \frac{\pi}{2}}$$

②

✓

① $x^r - (\sin \alpha)x - \frac{1}{r} \cos^r \alpha = 0 \xrightarrow{x^r} rx^r - r(\sin \alpha)x - \cos^r \alpha = 0$

$rx^r - r(\sin \alpha)x - (1 - \sin^r \alpha) = 0$

$rx^r - r(\sin \alpha)x + \sin^r \alpha = 1 \implies (rx - \sin \alpha)^r = 1$ (P) ✓

$rx - \sin \alpha = 1 \xrightarrow{x = \frac{r}{r}} \frac{r}{r} - \sin \alpha = 1 \implies \frac{1}{r} = \sin \alpha$ $\vec{OO} \rightarrow$ 

$rx - \sin \alpha = -1 \xrightarrow{x = \frac{r}{r}} \frac{r}{r} - \sin \alpha = -1 \implies \frac{1}{r} = \sin \alpha$ $\vec{OOE}$

② $-\frac{\sin \alpha}{\cos \alpha} = \mu \implies \frac{\sin \alpha}{\cos \alpha} = -\mu$

$\sin \alpha > 0, \cos \alpha < 0$  $\lg \sin \alpha$
 $\sin \alpha = \frac{\sqrt{10}}{10}$
 $\cos \alpha = -\frac{3}{10}$

③ $\sin \alpha < 0, \cos \alpha > 0$ $-\frac{r}{\sqrt{10}} + \frac{1}{\sqrt{10}} = -\frac{r}{\sqrt{10}}$
 $\sin \alpha > 0, \cos \alpha < 0$ $\frac{r}{\sqrt{10}} + \frac{1}{\sqrt{10}} = \frac{r}{\sqrt{10}}$

$\frac{1}{\frac{1}{\alpha}} = \frac{9}{1}$

④ $\sin^r \theta + \cos^r \theta = \frac{r}{a}$
 $\cos^r \theta + \sin^r \theta = n$

$(\sin^r \theta - \cos^r \theta) + (\cos^r \alpha - \sin^r \alpha) = \frac{r}{a} - n$

$(\sin^r \alpha - \cos^r \alpha)(\sin^r \alpha + \cos^r \alpha) + (\cos^r \alpha - \sin^r \alpha) = \frac{r}{a} - n$

$(\sin^r \alpha - \cos^r \alpha)(\sin^r \alpha + \cos^r \alpha - 1) = \frac{r}{a} - n \implies n = \frac{r}{a}$

⑤ $r \sin n + \sin n \cos n < 0 \implies r \sin n + \sin n \cos n < 0$

$\sin n (r + \cos n) < 0 \implies \sin n < 0$

$\frac{\sin^r n}{\cos n} - \frac{1}{\cos n} > 0 \implies \frac{\sin^r n - 1}{\cos n} > 0 \implies -\frac{\cos^r n}{\cos n} > 0 \implies -\cos n > 0$

$\cos n < 0$

$\rightarrow$  $\rightarrow$ $\frac{r}{a} < 0$

$$\textcircled{4} \quad \frac{r \cos n + r \sin n}{\sin n \cos n} \xrightarrow[\cos n]{\sin n} r \cos n + r \sin n = 0 \xrightarrow{\div \cos n} r + r \tan n = 0$$

$$\rightarrow \tan n = -\frac{r}{r} \quad -\frac{r}{r} = -\frac{r}{r} = \frac{-r - 9}{5} = \frac{-1r}{5}$$

Ⓟ



$$\textcircled{v} \frac{\sqrt{1 + \sin \delta_0}}{\sin \delta_0 + \sin l_0} \sqrt{(\sin \gamma_0 + \cos \gamma_0)^2} = \frac{|\sin \gamma_0 + \cos \gamma_0|}{\sin \delta_0 + \sin l_0} = \frac{\sqrt{r} |\sin(\gamma_0 + \gamma_0)|}{\sin \delta_0 + \sin l_0}$$

$$\frac{\sqrt{r} \sin \gamma_0}{\sin(\gamma_0 + \gamma_0) + \sin(\gamma_0 - \gamma_0)} = \frac{\sqrt{r} \sin \gamma_0}{\sin \gamma_0 \cos \gamma_0 + \cancel{\sin \gamma_0 \cos \gamma_0} + \sin \gamma_0 \cos \gamma_0 - \cancel{\sin \gamma_0 \cos \gamma_0}} = \frac{\sqrt{r} \sin \gamma_0}{\cancel{\gamma \sin \gamma_0 \cos \gamma_0}}$$

$$\frac{\sqrt{r} \sin \gamma_0}{\cos \gamma_0} = \sqrt{r}$$

$\textcircled{v}$ ✓

MODIR

Subject.

Day. Month. Year.

$$\textcircled{A} \quad \frac{(1 - r \sin^p \Delta)(r \cos^p \theta - 1) \left(\frac{1 - \tan^p \theta}{1 + \tan^p \theta} \right)}{\sin \theta \times (\cos \theta)(\cos \theta)(\cos \theta)} \xrightarrow{\frac{\frac{1}{r} \sin \Delta}{\frac{1}{r} \sin \theta \cdot \cos \theta \cdot \cos \theta}} = \frac{1}{\Delta} \frac{\sin \Delta}{\sin \theta}$$

$$\rightarrow \frac{1}{\Delta} \frac{\cos \theta}{\sin \theta} = \frac{1}{\Delta} \tan \theta \quad \text{C.T.I.}$$

L.I.V.O. ✓

$$\textcircled{9} \quad \sin \alpha + r \cos \alpha = r \quad \Delta \cos^p \alpha - 1 r \cos \alpha = ? \quad (\sin \alpha + \cos \alpha) = r - r \cos \alpha$$

$$\cos^p \alpha = 1 + \cos^p \theta \rightarrow r \cos^p \alpha - 1 = \cos^p \theta \quad \sin \alpha + r \cos \alpha = r$$

$$\Delta (r \cos^p \alpha - 1) - 1 r \cos \alpha = 1 \cos^p \theta + \Delta - 1 r \cos \alpha = r$$

$$1 \cos^p \alpha - 1 r \cos \alpha + r = 0$$

$$\downarrow \quad \frac{1}{r} \left(\frac{1 + \cos^p \theta}{r} \right) - 1 r \cos \alpha + r = 0 \rightarrow$$

$$\Delta \cos^p \alpha - 1 r \cos \alpha = -1$$

$$\textcircled{10} \quad \sin B \sin C = \cos^p A \quad B = r^p \quad A + B + C = 180^\circ$$

$$\sin B \sin C = \cos^p (180^\circ - (B + C)) = (1 + \cos^p (B + C))$$

$$\sin B \sin C = \sin^p (B + C) \rightarrow \sin r^p \sin C = \sin^p (r^p + \frac{C}{r})$$

$$\sin r^p \sin C = \sin (r^p + \frac{C}{r}) \sin (r^p + \frac{C}{r}) \rightarrow \sin r^p \sin C = \sin (r^p + \frac{C}{r})$$

$$\rightarrow B = r^p \quad C = r^p \quad A = 180^\circ - 1 r^p = r^p$$

L.I.V.O. ✓